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s[qeurSewiun // ajqeyuIyun

pasead /7 paystiad // paystuea /; pateaddesip // papej // paystulwip // paut[oap // palp
SAIBAID // [NJSSOIINS /7 AATIRUISBWI

Ja1Rq // yieg /7 sng
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anbrun // Juaragjip

wiapow // (dusip)[eal /; zerruiey j/ Areurpio /7 Aretodwajuod
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AnddeyyAjreay/A[qeinsesd siapeal j/ (s)1opeal ay} // sIapeal J1ay)
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SSA[IUNOI J/ snolewinu /7 Auew

OABL MOU // PRJBAID/PAIUIAUL JARY
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pastidins sem // pasudins 1]9)/estidins passaidxa
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covering
78. An ash cloud is cover Europe (55)
79. t){passenger aeroplanes (18)
80. through the cloud as the ash could){ damage (81)
] cause )
81. the engines and caused them to fail (65)
failin
82. the engines on a plane w% failed // the engines on a plane were faile (30)
83. an ash cloud over tb(lndohesia (50)
restart be .
84. which could only restarted // which could only A restarted // which cNd only restarted (75)
e off - 4
85. ash had solidified and broken out // ash had solidified and broken out (1)
of 2 . more . .
86. had lost thousands A feet in altitude // had lost thousands A feet in altitude (45)
. had X
g7. it would have A to ‘ditch’ (3)
an accidents
88. To avoid such A accident, // To avoid such accident, (55)
are been been
89. There have, therefore, /{ There have A , therefore, // therefore,,\ long queues (62)
flying
90. try to find an alternative to fly (3)
] ., the
91. The disruption 1s A most severe (72)
o means .
92. low cost airlines mean that flying (71)
to between
93, to travel in European cities, // to travel in European cities, (25)
quite
94. the distances involved are quiet short // the distances involved are q%t short (34)
In
95. At Iceland, the ash from the volcano (50)
reducing )
96. car engines and reduce visibility (57)
indoors inside
97. to stay indoor and to wear //  to stay indoor and to wear (19)
go
98. if they went outside (63)
Note: Figures in brackets indicate the percentages of candidates choosing the correct answers.
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